ISSN 2063-5346



THIRD ORDER SUBLINEAR NEUTRAL DELAY DIFFERENCE EQUATION

S. Kaleeswari¹, J. Gowri²

Abstract

We derive new sufficient conditions for oscillatory and asymptotic behavior of all solutions of third order delay difference equation with a sublinear neutral term. We have compared the third order difference equation into second order delay difference equation with some oscillation characteristics and obtained oscillation results. Examples are provided to illustrate our results.

Keywords: Oscillation, difference equation, third order, sublinear, neutral delay.

¹ Department of Mathematics, Nallamuthu Gounder Mahalingam College, Pollachi, Tamilnadu, India. email id: kaleesdesika@gmail.com

² Department of Mathematics, Nallamuthu Gounder Mahalingam College, Pollachi, Tamilnadu, India. email id: pranithagowri86@gmail.com

DOI:10.48047/ecb/2023.12.9.78

1 Introduction

We examine the oscillatory behavior of third order non linear difference equation with a sublinear neutral term

$$\Delta^2(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) + p(\varsigma)y^{\mu}(\varsigma - d_2) = 0, \ \varsigma \ge \varsigma_0 \tag{1}$$

where $x(\varsigma) = y(\varsigma) + \delta(\varsigma)y^{\kappa}(\varsigma - d_1)$ and ς_0 is a positive integer.

Assumed throughout the entirety of this paper,

1. $\{u(\varsigma)\}, \{\delta(\varsigma)\}$ and $\{p(\varsigma)\}\$ are positive real sequences with $\delta(\varsigma) \ge 1$ and $\delta(\varsigma) \to \infty$ as $\varsigma \to \infty$;

- 2. Each of κ, γ and μ is a ratio of odd positive integers with 0 $< \kappa \le 1$;
- 3. d_1 and d_2 are positive integers with $d_1 < d_2$ and

4.
$$\sum_{\zeta=\zeta_0}^{\infty} u^{-\frac{1}{\gamma}}(\zeta) = \infty.$$

From the solution of (1) we mean a non trivial sequence $\{y(\varsigma)\}$ defined for all $\varsigma \ge \varsigma_0 - \omega$, where $\omega = \max \{d_1, d_2\}$, which satisfies (1) for all $\varsigma \ge \varsigma_0$. A non-trivial solution of (1) is neither eventually positive nor eventually negative and non oscillatory otherwise.

In recent years, there has been a lot of interest in figuring out the circumstances that cause difference equation solutions to behave in an oscillatory manner, see [1,2,4,3,5,7,8,11,12,13,14] and the references therein. There are number of oscillation results available for second order difference equations and less number of such results available for third order difference equations even though these type of equations have wide applications in economics, mathematical biology and many other areas in science[6,9,10,15,16,17].

As far as the authors are aware, no research has been done on third order difference equations with a sublinear neutral component, where equation (1) was examined in the instance $u(\varsigma) = 1$, $\gamma = 1$ and $0 < \delta(\varsigma) \le \delta < 1$.

2 Main Results

In order to make things easier for us, we let

 $A(\varsigma) = \sum_{s=\varsigma_1}^{\varsigma-1} u^{-\frac{1}{\kappa}}(s), \text{ for } \varsigma \ge \varsigma_1 \ge \varsigma_0 \text{ and there exist an integers } a_1 \text{ and } a_2 \text{ such that } \varsigma + d_1 - d_2 < \varsigma - a_1 < \varsigma - a_2 \text{ .}$

Furthermore, we assume that for every positive integers ϵ and Γ

1.
$$\eta(\varsigma) = \frac{1}{\delta(\varsigma+d_1)} \left[1 - \frac{A^{\frac{1}{\kappa}}(\varsigma+2d_1)}{A(\varsigma+d_1)} \frac{\epsilon^{\frac{1}{\kappa}-1}}{\delta^{\frac{1}{\kappa}}(\varsigma+2d_1)} \right] > 0$$
 and

Section A-Research paper

2.
$$\chi(\varsigma) = \frac{1}{\delta(\varsigma+d_1)} \left[1 - \frac{\Gamma^{\frac{1}{\kappa}-1}}{\delta^{\frac{1}{\kappa}}(\varsigma+2d_1)} \right] > 0$$
 for sufficiently large ς .

Lemma 2.1 "Suppose that (S1) - (S4) hold and $\{y(\varsigma)\}$ is an eventually positive solution of (1). Then there exist an integer $\varsigma_1 \ge \varsigma_0$ such that the corresponding sequence $\{x(\varsigma)\}$, meets one of the criteria listed below:"

1.
$$x(\varsigma) > 0$$
, $\Delta x(\varsigma) > 0$, $\Delta(u(\varsigma)(\Delta x(\varsigma))) < 0$ and $\Delta^2(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) < 0$;

2. $x(\varsigma) > 0$, $\Delta x(\varsigma) < 0$, $\Delta(u(\varsigma)(\Delta x(\varsigma))) > 0$ and $\Delta^2(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) < 0$, for all $\varsigma \ge \varsigma_1$.

Proof. It is omitted as rather easy.

Lemma 2.2 Let (S1) - (S5) hold and $\{x(\varsigma)\}$ fulfills Case (C1) of Lemma 2.1 for all $\varsigma \ge \varsigma_1$. Then

$$x(\varsigma) \ge A(\varsigma)(u(\varsigma)(\Delta x(\varsigma))) \tag{2}$$

and

$$\left\{\frac{x(\varsigma)}{A(\varsigma)}\right\}$$
 is non increasing for all $\varsigma \ge \varsigma_1$. (3)

Proof. We assumed $u(\varsigma)(\Delta x(\varsigma)) > 0$ and decreasing, we get

$$\begin{aligned} x(\varsigma) &= x(\varsigma_1) + \sum_{s=\varsigma_1}^{\varsigma-1} \frac{u^{\overline{\gamma}}(s)(\Delta x(s))}{u^{\frac{1}{\gamma}}(s)}, \\ &\geq A(\varsigma)(u^{\frac{1}{\gamma}}(\varsigma)(\Delta x(\varsigma))), \ it \quad proves \quad (2). \end{aligned}$$

By (2), we have

$$\Delta\left(\frac{x(\varsigma)}{A(\varsigma)}\right)$$

is non increasing.

Lemma 2.3 Suppose that (S1) - (S4) hold and $\{y(\varsigma)\}$ is a positive solution of (1) with the corresponding sequence $\{x(\varsigma)\}$ fulfilling case (C1) of Lemma 2.1 $\forall \varsigma \ge \varsigma_1 \ge \varsigma_0$, then $\{x(\varsigma)\}$ satisfies the inequality

$$\Delta^2(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) + p(\varsigma)\eta^{\frac{\mu}{\kappa}}(\varsigma - d_2)x^{\frac{\mu}{\kappa}}(\varsigma + d_1 - d_2) \le 0.$$
(4)

for all ς .

Proof. Let $\{y(\varsigma)\}$ be a positive solution of (1) and $y(\varsigma) > 0$, $y(\varsigma - d_1) > 0$ and $y(\varsigma - d_2) > 0$ for $\varsigma \ge \varsigma_1$ for some integer $\varsigma_1 \ge \varsigma_0$.

According to the definition of $x(\varsigma)$, we write

$$y^{\kappa}(\varsigma) \ge \frac{1}{\delta(\varsigma+d_1)} \left[x(\varsigma+d_1) - \frac{x^{\frac{1}{\kappa}}(\varsigma+2d_1)}{\delta^{\frac{1}{\kappa}}(\varsigma+2d_1)} \right], \varsigma \ge \varsigma_1.$$
(5)

We have $\left\{\frac{x(\varsigma)}{A(\varsigma)}\right\}$ is non increasing and (5) becomes

$$y^{\kappa}(\varsigma) \ge \frac{1}{\delta(\varsigma+d_1)} \left[x(\varsigma+d_1) - \frac{x^{\frac{1}{\kappa}}(\varsigma+d_1)}{\delta^{\frac{1}{\kappa}}(\varsigma+2d_1)} \frac{A^{\frac{1}{\kappa}}(\varsigma+2d_1)}{A^{\frac{1}{\kappa}}(\varsigma+d_1)} \right].$$
(6)

Additionally, a constant $\epsilon > 0$ so that $\frac{x(\varsigma+d_1)}{A(\varsigma+d_1)} \le \epsilon$. By this criteria and (6), we get

$$y^{\kappa}(\varsigma) \geq \frac{x(\varsigma+d_1)}{\delta(\varsigma+d_1)} \left[1 - \frac{\epsilon^{\frac{1}{\kappa}-1}}{\delta^{\frac{1}{\kappa}}(\varsigma+2d_1)} \frac{A^{\frac{1}{\kappa}}(\varsigma+2d_1)}{A^{\frac{1}{\kappa}}(\varsigma+d_1)} \right],$$

$$\geq \eta(\varsigma) x(\varsigma+d_1).$$

Applying the last inequality in (1), we can get (4). The proof is completed.

Lemma 2.4 Suppose that (S1) - (S4) and (S6) hold. If $\{y(\varsigma)\}$ is an eventually positive solution of (1) with the corresponding sequence $\{x(\varsigma)\}$ fulfilling Case (C2) of Lemma 2.1 $\forall \varsigma \ge \varsigma_1 \ge \varsigma_0$, then $\{x(\varsigma)\}$ satisfies the inequality

$$\Delta^2(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) + p(\varsigma)\chi^{\frac{\mu}{\kappa}}(\varsigma - d_2)x^{\frac{\mu}{\kappa}}(\varsigma + d_1 - d_2) \le 0.$$
(7)

for large ς .

Proof. Let $\{y(\varsigma)\}$ be a positive solution of (1) and $y(\varsigma) > 0$, $y(\varsigma - d_1) > 0$ and $y(\varsigma - d_2) > 0$ for $\varsigma \ge \varsigma_1$ for some integer $\varsigma_1 \ge \varsigma_0$. Continuing with the proof of the Lemma 2.3, we see that (5) holds $\forall \varsigma \ge \varsigma_1$. Since $\{x(\varsigma)\}$ is decreasing, It proves by reference to (5) that

$$y^{\kappa}(\varsigma) \ge \frac{x(\varsigma+d_1)}{\delta(\varsigma+d_1)} \left(1 - \frac{x^{\frac{1}{\kappa}-1}(\varsigma+d_1)}{\delta^{\frac{1}{\kappa}}(\varsigma+2d_1)} \right).$$
(8)

Also there exist a constant $\Gamma > 0$ and $x(\varsigma) \leq \Gamma$ and $\frac{1}{\kappa} > 1$. we see that

$$x^{\frac{1}{\kappa}-1}(\varsigma+d_1) \leq \Gamma^{\frac{1}{\kappa}-1}, forall \varsigma \geq \varsigma_1.$$

Applying this in (8), we obtain

$$y^{\kappa}(\varsigma) \ge \chi(\varsigma) x(\varsigma + d_1). \tag{9}$$

Substituting (9) in (1) gives (7). Hence the proof.

Theorem 2.5 Suppose that (S1) - (S6) hold. If for all sufficiently large integer $\varsigma_1 \ge \varsigma_0$ and for some $\varsigma_2 \ge \varsigma_1$,

$$\sum_{\varsigma=\varsigma_2}^{\infty} p(\varsigma) \eta^{\frac{\mu}{\kappa}} (\varsigma - d_2) = \infty$$
⁽¹⁰⁾

and

Section A-Research paper

$$\sum_{\varsigma=\varsigma_1}^{\infty} p(\varsigma) \chi^{\frac{\mu}{\kappa}}(\varsigma - d_2) = \infty, \tag{11}$$

then every solution of (1) is either oscillatory or $\lim_{\varsigma \to \infty} y(\varsigma) = 0$.

Proof. Consider $\{y(\varsigma)\}$ to be non oscillatory solution of (1). Without sacrificing generality, we can assume $y(\varsigma) > 0$, $y(\varsigma - d_1) > 0$ and $y(\varsigma - d_2) > 0$ for $\varsigma \ge \varsigma_1$ for some $\varsigma_1 \ge \varsigma_0$. Considering the Lemma 2.1, $\{x(\varsigma)\}$ will meet case (C1) or case (C2) for all $\varsigma \ge \varsigma_1$.

Case (C1): According to the Lemma 2.3, we see the above inequality (4) holds for every $\varsigma \ge \varsigma_1$. Since $\{x(\varsigma)\}$ is increasing, there exists a constant F > 0 and an integer $\varsigma_2 \ge \varsigma_1$ and $x(\varsigma) \ge F$ for all $\varsigma \ge \varsigma_2$. Then we have the following

$$\Delta(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) \leq \Delta(u(\varsigma_2)(\Delta x(\varsigma_2))^{\gamma}) - F^{\frac{\mu}{\kappa}} \sum_{i=\varsigma_2}^{\varsigma-1} p(i)\eta^{\frac{\mu}{\kappa}} (i-d_2),$$

which tends to $-\infty$ as $\varsigma \to \infty$. This inconsistency rules out Case (C1).

Case(C2): Since $\{x(\varsigma)\}$ is decreasing and there is a constant e such that $\lim_{k \to \infty} x(\varsigma) = e \ge 0$. If e > 0, then $x(\varsigma) \ge e \forall \varsigma \ge \varsigma_1 \ge \varsigma_0$. Applying this in (7), we have

$$\Delta^2(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) \leq -e^{\frac{\mu}{\kappa}}p(\varsigma)\chi^{\frac{\mu}{\kappa}}(\varsigma-d_2), \varsigma \geq \varsigma_1.$$

Summing up the last inequality from ς_1 to $\varsigma - 1$ gives,

$$\Delta(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) \leq \Delta(u(\varsigma_1)(\Delta x(\varsigma_1))^{\gamma}) - e^{\frac{\mu}{\kappa}\sum_{s=\varsigma_1}^{\varsigma-1}} p(s)\chi^{\frac{\mu}{\kappa}}(\varsigma-d_2),$$

which approaches to $-\infty$ as $\varsigma \to \infty$, which is contradiction.

If e = 0, then $y(\varsigma) \le x(\varsigma) \Rightarrow y(\varsigma) \to 0$ as $\varsigma \to \infty$. Hence the proof.

Remark Let us assume that $(S7)\lim_{k\to\infty}\frac{A^{\frac{1}{\kappa}(\varsigma+2d_1)}}{A(\varsigma+d_1)\delta^{\frac{1}{\kappa}(\varsigma+2d_1)}}=0.$

Since $\{A(\varsigma)\}$ is positive and increasing and $\frac{1}{\kappa} > 1$, thus (S7) implies

$$\lim_{k \to \infty} \frac{1}{\delta^{\frac{1}{\kappa}}(\varsigma + 2d_1)} = 0.$$
(12)

We can apply these conditions to simplify $\eta(\varsigma)$ and $\chi(\varsigma)$ as follows. Inview of (S7), there exist $b_1 \in (0,1)$ and an integer $\varsigma_1 \ge \varsigma_0$ such that

$$\frac{A^{\frac{1}{\kappa}(\varsigma+2d_1)}}{A(\varsigma+d_1)\delta^{\frac{1}{\kappa}}(\varsigma+2d_1)} \leq \epsilon^{1-\frac{1}{\kappa}}(1-b_1).$$

Applying the above inequality with $\eta(\varsigma)$, we get

$$\eta(\varsigma) \ge \frac{b_1}{\delta(\varsigma + d_1)}, \varsigma \ge \varsigma_1.$$
(13)

Again from (12), there exists $b_2 \in (0,1)$ and an integer $\varsigma_2 \ge \varsigma_1$ and

Section A-Research paper

$$\frac{1}{\delta^{\frac{1}{\kappa}}(\varsigma+2d_1)} \le \epsilon^{1-\frac{1}{\kappa}}(1-b_2).$$

Using above with $\chi(\varsigma)$, we get

$$\chi(\varsigma) \ge \frac{b_2}{\delta(\varsigma + d_1)}, \varsigma \ge \varsigma_2.$$
(14)

Remark 2.6 Let $\varsigma \ge N \ge \varsigma_0$ be fixed. Applying (14) in (7), we have

$$\Delta^2(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) + p(\varsigma)b_2^{\frac{\mu}{\kappa}}\delta^{\frac{-\mu}{\kappa}}(\varsigma + d_1 - d_2)x^{\frac{\mu}{\kappa}}(\varsigma + d_1 - d_2) \le 0, \varsigma \ge N.$$
(15)

Theorem 2.7 Let (S1) - (S4) and (S7) be hold. Moreover, suppose there exists an integer a_1 such that $\varsigma + d_1 - d_2 \le \varsigma - a_1$ for any $\varsigma \ge \varsigma_0$. If the second order difference inequality

$$\Delta^{2}(E(\varsigma))^{\gamma} + \frac{p(\varsigma)b_{1}^{\overline{\kappa}}}{\delta^{\overline{k}}(\varsigma+d_{1}-d_{2})}A^{\underline{\mu}}(\varsigma+d_{1}-d_{2})E^{\underline{\mu}}(\varsigma+d_{1}-d_{2}) \le 0.$$
(16)

has no positive increasing solution and the second order difference inequality

$$\Delta^{2}(U(\varsigma))^{\gamma} - p(\varsigma)b_{2}^{\frac{\mu}{\kappa}}\delta^{\frac{-\mu}{\kappa}}(\varsigma + d_{1} - d_{2})\left(\sum_{i=\varsigma+d_{1}-d_{2}}^{\varsigma-a_{1}-1}\frac{1}{u(i)}\right)U^{\frac{\mu}{\kappa}}(\varsigma - a_{1}) \ge 0.$$
(17)

has no positive decreasing solution, then (1) is oscillatory.

Proof. Let $\{y(\varsigma)\}$ be a non oscillatory solution of (1), say $y(\varsigma) > 0$, $y(\varsigma - d_1) > 0$ and $y(\varsigma - d_2) > 0 \forall \varsigma \ge \varsigma_1$ for some integer $\varsigma_1 \ge \varsigma_0$. Then from Lemma 2.1, $\{x(\varsigma)\}$ fulfills either case (*C*1) or case (*C*2) for $\varsigma \ge \varsigma_1$.

Case(C1) Similar to how the Lemma 2.3 was proved, we get here at (4). Applying (13) in (4), we obtain

$$\Delta^2(u(\varsigma)(\Delta x(\varsigma)^{\gamma}) + p(\varsigma)\left(\frac{b_1}{\delta(\varsigma+d_1-d_2)}\right)^{\frac{\mu}{\kappa}} x^{\frac{\mu}{\kappa}}(\varsigma+d_1-d_2) \le 0, \varsigma \ge \varsigma_1.$$
(18)

Applying (2) in (7) and by above (18), we have

$$\Delta^{2}(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) + \frac{p(\varsigma)b_{1}^{\frac{\mu}{\kappa}}}{\delta^{\frac{\mu}{\kappa}}(\varsigma+d_{1}-d_{2})}A^{\frac{\mu}{\kappa}}(\varsigma+d_{1}-d_{2})(u(\varsigma+d_{1}-d_{2})(\Delta x(\varsigma+d_{1}-d_{2}))^{\frac{\mu}{\kappa}}) \leq 0.$$
(19)

Let $E(\varsigma) = u(\varsigma)(\Delta x(\varsigma)) > 0$ for $\varsigma \ge \varsigma_1$. Then from (19), we can see that

$$\Delta^{2}(E(\varsigma))^{\gamma} + \frac{p(\varsigma)b_{1}^{\frac{\mu}{\kappa}}}{\delta^{\frac{\mu}{k}}(\varsigma+d_{1}-d_{2})}A^{\frac{\mu}{\kappa}}(\varsigma+d_{1}-d_{2})E^{\frac{\mu}{\kappa}}(\varsigma+d_{1}-d_{2}) \le 0.$$
(20)

has a positive increasing solution, which is contradiction.

Case(C2) For some $s \ge n \ge \zeta_2 \ge \zeta_1$, we can write

$$x(n) = x(s) + \sum_{i=n}^{s-1} \frac{u(i)\Delta x(i)}{u(i)}$$
,

$$\geq -u(s)\Delta x(s)\sum_{i=n}^{s-1}\frac{1}{u(i)}.$$
(21)

Fix
$$n = \varsigma + d_1 - d_2$$
 and $s = \varsigma - a_1$ in (21), we get

$$x(\varsigma + d_1 - d_2) \ge \left(\sum_{i=\varsigma+d_1-d_2}^{\varsigma-a_1-1} \frac{1}{u(i)}\right) (-u(\varsigma - a_1)(\Delta x(\varsigma - a_1))).$$
(22)

By the above remark, we can say the inequality (15) holds. By (15) and (22), we obtain the ensuing inequality

$$\Delta^{2}(u(\varsigma)(\Delta x(\varsigma))^{\gamma}) + p(\varsigma)b_{2}^{\frac{\mu}{\kappa}}\delta^{\frac{-\mu}{\kappa}}(\varsigma + d_{1} - d_{2})\left(\sum_{i=\varsigma+d_{1}-d_{2}}^{\varsigma-a_{1}-1}\frac{1}{u(i)}\right)(-u(\varsigma - a_{1})(\Delta x(\varsigma - a_{1}))^{\gamma}) \le 0.$$

Now, we define $U(\varsigma) = -u(\varsigma)(\Delta x(\varsigma)) > 0$ for $\varsigma \ge \varsigma_1 \ge N \ge \varsigma_0$, then we have

$$\Delta^{2}(U(\varsigma))^{\gamma} - p(\varsigma)b_{2}^{\frac{\mu}{\kappa}}\delta^{\frac{-\mu}{\kappa}}(\varsigma + d_{1} - d_{2})\left(\sum_{i=\varsigma+d_{1}-d_{2}}^{\varsigma-a_{1}-1}\frac{1}{u(i)}\right)U^{\frac{\mu}{\kappa}}(\varsigma - a_{1}) \geq 0.$$

has a positive decreasing solution which comprises a contradiction. Hence the theorem.

3 Example

Example 3.1 Examine the third order neutral delay difference equation

$$\Delta^{2}(\frac{1}{\varsigma^{4}}(\Delta x(\varsigma))^{4}) + \varsigma^{3}y^{\frac{1}{4}}(\varsigma - 5) = 0, \ \varsigma \ge 5$$
(23)

where $x(\varsigma) = y(\varsigma) + \varsigma^2 y^{\frac{1}{2}}(\varsigma - 2)$. Here $p(\varsigma) = \varsigma^3$, $\delta(\varsigma) = \varsigma^2$, $\kappa = \frac{1}{4}$, $d_2 = 5$, $d_1 = 2$, $\mu(\varsigma) = \frac{1}{4}$, $\gamma = 4$, $u(\varsigma) = \frac{1}{\varsigma^4}$. We can easily say (S1)- (S4) hold. From the direct calculation shows that $A(\varsigma) = \frac{\varsigma - 1}{2}$, $\eta(\varsigma) \ge \frac{1}{(\varsigma + 3)^2} \left(1 - \frac{(\varsigma + 3)^4 \epsilon^3}{8(\varsigma + 1)(\varsigma + 4)^8}\right) > 0$ and $\chi(\varsigma) \ge \frac{1}{(\varsigma + 2)^2} \left(1 - \frac{\Gamma^3}{(\varsigma + 4)^3}\right) > 0$, so (S5) and (S6) are satisfied. This follows from (10) and (11)

$$\sum_{5}^{\infty} \frac{\varsigma^3}{(\varsigma-3)^2} \left(1 - \frac{(\varsigma-2)^4 \quad \epsilon^3}{8(\varsigma-4)(\varsigma-1)} \right) = \infty$$

and

$$\sum_{5}^{\infty} \frac{\varsigma^3}{(\varsigma-1)^3} \left(1 - \frac{\Gamma^3}{(\varsigma-1)^3} \right) = \infty.$$

Hence by theorem 2.5, every solution of (23) is either oscillatory or tends to zero as $\varsigma \to \infty$.

4 Conclusion

The oscillation conditions of the third order sublinear neutral delay difference equations are obtained in this study. In order to improve and reduced third order difference equation to second order difference equation with known oscillation characteristics. Furthermore one example is provided to dwell upon the importance of our main results.

References

- [1] Agarwal, R.P., *Difference Equations and Inqualities, Theory, Methods and Applications*, Second Edition, Revised and Expanded, New York, Marcel Dekker, 2000.
- [2] Agarwal, R.P., Grace, S.R., O'Regan.,D Oscillation of higher order difference equations via comparision, Glasnik.Mat., 39 (2004),289-301.
- [3] Agarwal, R.P., Bohner, M., Grace, S.R., O'Regan, D., *Discrete Oscillation Theory*, Hindawi, New York, 2005.
- [4] Elaydi, S. An Introduction to Difference Equations, Springer-Verlag, New York, 1996.
- [5] Grace, S.R., Agarwal, R.P., Graef, J.R., Oscillation criteria for certain third order nonlinear difference equations, Fasc. Math., 42(2009), 39-51
- [6] Ayyappan, G., Chatzarakis, G.E., Gopal, T., Thandapani, E., On the Oscillation criteria of third order Emden -Flower type difference equations with unbounded neutral term, Nonlinear Stud., 27(2020), 1-11.
- [7] Ayyappan, G., Chatzarakis, G.E., Gopal, T., Thandapani, E., Oscillation criteria of third order non-linear neutral delay difference equations with noncanonical operators, Appl.Anal.Discrete Math. 15(2021), 413-425.

- [8] Jaikumar, S., Alagesan, K., Oscillation and asymptotic behavior of third order difference equations with sublinear neutral term, Journal of Scientific Computing, 8(2019), 34-43.
- [9] Kaleeswari, S., Selvaraj, B., On the oscillation of certain odd order nonlinear neutral difference equations, Applied Sciences 18, (2016), pp. 50-59.
- [10] Kaleeswari, S., Selvaraj, B., Thiyagarajan, M., A new creation of mask from difference operator to image analysis. Journal of Theoretical and Applied

Information Technology. 69(1), (2014).

- [11] Kaleeswari, S., Selvaraj,B., An Application of Certain Third Order Difference Equation in Image Enhancement, Asian Journal of Information Technology, 15 (23), 4945-4954(2016).
- [12] Saker, S.H., New Oscillation criteria for third order nonlinear neutral difference equations, Math. Slovaca, 61(2011), 579-600.
- [13] Selvaraj, B., Kaleeswari, S., Oscillation of solution of certain nonlinear difference equations. Progress in Non-linear Dynamics and chaos. 1(2013), 34-38.
- [14] Selvaraj, B., Kaleeswari, S., Oscillatory properties of solutions for certain third order non-linear difference equations, Far East Journal of Mathematical Science, 98(8), 963(2015).
- [15] Selvarangam, S., Madhan, M., Thandapani, E., Pinelas, S., *Improved* oscillation conditions for third order neutral type difference equations, Electron J. Differential Equations, 2017(2017), 90. 1-13.
- [16] Thandapani, E., Selvaraj, B., Oscillatory and non-oscillatory behaviour of fourth order Quasi-linear difference system, Far East Journal of

Mathematical Sciences, 17(2004)(3), 287-307.

[17] Walter, G.K., Allan, C.P., *Difference Equations Introduction with Applications*, Second Edition, Academic Press, 1991.